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J390m0 dmygzsboen 3G do dm3gdw9wo bogsMxR0dMado 50gdM0s LoEsddo JomMoMYdIYWo [2]
Logd3om 3MOLoEsD, 390, wgdEos 22-0b dragrm 3496dEdo dmyzsb0eo LgseX0TMGOOEIB.
3999149005 00 $Ho3MEOO Log3s0MX0IMGOOL BrIMYdO, HMIguoms 53mbLbgdO 4oEIMEJTME0s o. o930 53
20mblibgdL, sbsmBIbo LogsMx0dMIdO 30 9ol EITMI0WIOLS.

15356 K 0dMJOOL 306MBIBO s 3sbvbgdo obowgo [2]-To.

LogoMx0dmgdo Ne
1-5 1-d 2-5,2,9,,0 2-3,0, 3,00,3 3-5, 9 3-0, ©
4-5,2,9 4-5,0 5-5, 9 5-0,00,9 6-5,3 6-0,00

G03060 Lsg356xR0dMYdOL SFMbLLs

1. o3mggo f(x), ooy
o) y = 2sinx §o@dmoaqbl ¥y’ — ycosx = f(x) 396GMm@gdol s53mbablib.
59mblibs
o6 ¥’ = (2sinx)’ = 2cosx, s00@m0 f(x) = 2cosx — 2sinx - cosx = 2cosx — sin2x .

3sLvbo: f(x) = 2cosx — sin2x.

2. 030390 ©EOBIOIBE0SNOO R5BEBHM@gdOL DBMysEo 53mbsblbo:
4 _ 352 —6-
S) dx—Sx +5x—6;
50mblbos
2396¢Mm@gdol mG0gg dbsmol 0b@E M gd0m dogz0m9d0:

I(Z_Z) dx = [(3x? + 5x — 6) dx;
y=x3+§x2—6x+c.

3sbgbo:  y = x3 +§ x? —6x +c.

dx

50mblbos
296@ ™05 hoghgM™m® EHmeErgslio Z—i = i Lobom s 3506@ aM™m MmM0ogzg bt
dx 1
J (E) dy = f(g) dy;
1
x = 3 Iny + c;

3sbbo: x = % Iny + c.




50mblbs
2396¢Megds Bagfgdmm Gmeggslio Z—; = e Lobom s 3506E MMM mMH0gg dboMy:
dx _ - i
F(E)ay = feay
x=—-eY +g;
x+eV =g

3sbvpbo: x + e =c.

) % = g ;
58mblibs
2396¢Megds Bogfghmom Gmegsbo ydy = xdx Lsboom ©s 35063930 mMogg dbomy:
[ydy = [xdx;

%yz +c = %xz + ¢y,
85030 35M5d3bgd0L Jgnpd® dogowgdm: y — x? = c.
3sbybo: y2 —x? =c.

0) Z_Z = \/x_y ;
59mblibs

2396@ ™05 Bo3hgMmm FHmeErgslio %dy =Vx dx ULsboo @5 35063930 m6m0gg dbsey:
1
by = [V dx
2\y+¢ =§\/F+Cz;
35603030 goMmsgdbgdol g9y dogowgdo: 3\/§ —-Vx¥=c.
3sbgbo: 3,/y — Vx3 =c.

3. 03m390 396350BE3590560 gbEHM@gBOL BMs©o 5dmbsblbo:
5) y?y' —5x = 0;

50mblibs
29300035¢0Lfobmm, Hmd y' = Z—z ©5 39BHM@RS B3F9OMm GHrwgsto y2dy = 5x dx  Lsboo.
3506®936M0 m60gg Fbo6): [y2dy = [ 5x dx;

§y3+c1 =§x2+cz;
856030 25M@g3bgd0L Jggas@ dogomgdo: 2y — 15x% = c.
3sbgbo: 2y3 — 15x2 = c.

&) 5y*y' — 2x%/2 = 0;

53mblbs
2930m35¢0lLffobmm, HG®d y' = Z—z ©5 396EHM@9ds Bsgfgdmm Gmangslo 5y*dy = 2x3/2 dx Lsboo.
35063936m0 m60gg Fbo6): [5y*dy = [2x3/2 dx;

Y5+ ¢ =§x5/2 +c,;
85603030 3565936980l 995 dogomgdo: 5y° — 4vVx5 = c.
35b¥gbo: 5y° — 4Vx5 = c.



4.

03390 ©OBIMIBE05WMMO gobBHMEgdol 39M:dm 59mboblibo, HmIgero 93059mx30¢gdl dmEgdmer 30MHMBL:
dy

D)E=esx; y=1 60g x=0;

50mblibs
395069300 g9b6GHMEgdol mGogg bty f (Z—Z) dx = [(e®) dx;
y= %esx +c;
B5FYgolo 306MBdGBOL gom35¢olFobgdom dogowgdo: 1 = %eo +c5c= % ; 99Ld5d0bo, ¥ = %esx +3

5
4

3sbygbo: y = e + 2

5 5°
) 4y _ X, =3 & =2
=5 y=3, 6ngs x=2;
50mblibo
256&M@qds Bogfa®mm GHm@asto y2dy = x dx bsboo @s 350b6@930mo m®Hogg dbscy:
[y?dy = [ x dx;

§y3+c1 =%x2+cz;
85603030 39M©>9d6gd0L  Fggads@ 80300900: 23 —3x% = ; Lsfgobo 306HmdIBOL  gosmgowolfobgdom
8og00g@m: 2-3% —3-22=c; c=42; YgLodsdobo, 2y —3x? = 42;
3oLybo: 2y3 — 3x? = 42.

g)Z—Z=y2\/m; y=2, 6oz x =4.
50mblibs
2396¢M@gds BogzfgOHmo Gmegsbio J%dy =V4—xdx Lbsboo s 3506¢gaOMM mM0ogy Fboty:
Jy~?dy = [V4—xdx;
—i+ ¢ = —2(4 -x)3% +¢,;
oM BH030 2oModdbgdol 9ggas© 0300900 %—2(4 —x)%2 = ¢; bafigolbo 306H:MdIBOL omgsmolfobgdom
do3009dm: %—2(4 — 432 =¢c; c= % ; 99bsdsdoboc, % —2(4 —x)3/% = % ;

- /- R
3sLvybo: » 3(4 x)** = -

59mbligbom 306390 Hoyol FOHR030 oRIMIBE0SMOHO gobEmmagds:

0) ¥V +2y+3=0
50mblibs

y' + P(x)y = Q(x) 30639¢0 Hogaob §H53030 0053909630060 356@MmEgdol Bmyso  sdmbsblbo
3530093905 898930 Buedwom: y=e /M (¢ + [ Q(x)el P®%dx). asbBmmgds Bsgfgdmm
y' 4+ 2y = =3 bsbom s 358030949600 5060860 GmOImEs:
y=e~120%(C + [(=3)el PWxgx) = e72%(C + [(—3 )e*dx) = e~?* (C _zer) = e 2*C —1,5.
3sbvpbo: y = e 2*C — 1,5.

®) ¥ =3y =2e¥-3;
50cblbs
03039 BOOIEOb 359myggbgdoo dogoogdm:  y=el 3% (C + [(2e3* — 3)e™ /3% dx);

3



y=e3*(C + [(2e3* — 3)e™3*dx) = e3*(C + [(2 — 3e3*)dx) = e3*(C + 2x + e™3¥);
35Lvbo: y= e3*(C + 2x + e~3%);

6. 03m3900 3B033m9B0E0g6EIR060 BgmMg G0yl OBIMIBE0IWNMO gIbEMHBOL Brmys©O
50mboblbo:
o) ¥'+7y' —8y=0;
50mblibs
©53F90mm gsds30Lo BbsbosmgdYO abGMEads: T2 + 7r — 8 = 0 ; Ho@psh dsbslbosmgdge
2396¢M@gdsl od3b T =1 s = —8 Mo gobbbgsgzgdmwo 8qlgo, s80GH™I dm390wo FobEHmemgdol
Bgo0 500bsbLBO Bs0fg®gds BmOIMmom: ¥ = c e + ¢ e"* = cie” + ce
3sLbMbo: y = cre* + e,

Y =2y +y=0;

58mblbs
©53§90Mm Fgds3oLo BsbsbosmgdYo asbEMMads: 72 — 21 + 1 = 0 ; Hopsh dsbsbosmgdge
2396&M@gdsl 593L gH0 Bgbgo (XIM®O BgL3o) s gb Bgbgos r = 1, sdoGmA Im3gdMEo FbGHMEIdOL
Dm0 58mbsbLBO Bs0fjgmgds BmMImwom: y = cie™ + c,xe™™ = ce* + cxe”;

3sbbo: y = cie* + cxe”.



